INDEX

TECHNICAL DATASHEET

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN, ACHE, ACHTPL,

DEARIMLTELSNE LI e ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO, ACHAA2, ACHGA2, ACHGE

Reference: FT CH-en ‘ Date: 01/02/19 ‘ Revision: 14 ‘ Page: 1 of 15
B [
CH-TO CH-8.8 CH-8.8 E
o = o
CH-PL CH-PI CH-INB CH-INN
Coe== Ci—=—= (fr¥——= OF=—=
CH-GA CH-AR CH-GF CH-AF
O/ o O s - " ——
CH-GF A2 CH-AF A2 CH-ES CH-GF
CHARACTERISTICS ASSESMENT

° Metal anchor that works by expansion once installed with controlled torque.

° For high loads.

. Male thread. European Technical Assessment

. Assessed for structural applications in non-cracked concrete. > -
INDEX Fixing Systems (Técnicas Expansivas S.L.)

CH-TO / CH-8.8 / CH-PL/ CH-INB / CH-INN

° Easy installation. DOP CH

. Assembled with built-in antispins in the collar ensuring a spin-free installation. s

; + = ETA 18/0018
e Installation through the fixture. ﬁ EAD S o1
° For static and quasi-static loads.

OPTION 7
1219
° Versions in zinc plated and stainless steel A2.

. Variety of lengths and sizes, flexible installation.

. Available in INDEXcal BASE MATERIAL

APPLICATIONS DRILL HOLE CONDITION

. . . L) 'R
e Structural applications in non-structural ‘of ¢ “off ¢
concrete. u
DRY

e For fixing signposts, shelves, panels,

gates, railings, street furniture, fence WET FLOODED
posts. SIZE RANGE

e Urban furniture, cinema, theatre and
stadium seats. M6 - M20

APPLICATION EXAMPLES




= )V &
TECHNICAL DATASHEET o NDE‘

CH

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN, ACHE, ACHTPL,

Denomination: CH Anchor
ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO, ACHAA2, ACHGA2, ACHGE

Reference: FT CH-en Date: 01/02/19 Revision: 14 Page: 2 of 15
ITEM CODE ETA SIZE PHOTO COMPONENT MATERIAL COATING
Screw DIN 931, class 6.8
Washer Carbon steel
1 CH-TO v' | M6aM20 l——— S Sleeve Carbon steel -
Antispin Polyoxymethylene (POM) ZIl
Cone Carbon steel
Screw DIN 931, class 8.8
Washer Carbon steel
2 CH-8.8 v M6aMi6 "——-5——“" # Sleeve Carbon steel .
Antispin Polyoxymethylene (POM) F'ZI
Cone Carbon steel
Screw DIN 931, class 8.8
] Washer Carbon steel
3 CH-8.8 E -- M6 a M8 } '?) Sleeve Carbon steel -
Antispin Polyoxymethylene (POM) Zl
Cone Carbon steel
Screw DIN 931, A2-70 (AISI 304)
- Washer SS A2(AISI 304)
4 CH-A2 - M6 a M16 | " — }5 Sleeve SS A2-70 (AISI 304)
. Antispin Polyoxymethylene (POM)
Cone SS A2-70 (AISI 304)
Screw DIN 7991, class 10.9
5 CH-PL v M6 a M10 SIe.ev-'?-z . Ciarboin steel
Antispin Polioximetileno (POM)
Cone Carbon steel
Screw DIN 7991, A2-70 (AISI 304)
Sleeve SS A2-70 (AISI 304)
6 CH.PI il 1 Antispin Polyoxymethylene (POM)
Cone SS A2-70 (AISI 304)
Screw Inviolable, class 5.6
7 CH-INB v M6 .3 M8 SIe.evc.a Carbon steel ;
Antispin Polyoxymethylene (POM) w
Cone Carbon steel 2
Screw Inviolable, class 5.6 .!\ﬂ
3 CH-INN v VB e & . — SIe.evc.a Carbon steel ?Z#
: Antispin Polyoxymethylene (POM) 1
Cone Carbon steel BLASY
Hook Carbon steel
Washer Carbon steel
9 CH-GA _ M6 a M10 (\, - F~f——a—= . SIe.evc.a Carbon steel "
Antispin Polyoxymethylene (POM) v
Cone Carbon steel ]
Nut DIN 934 Class 6
Eye Hook Carbon steel
Washer Carbon steel
\Y Sleeve Carbon steel
10 CH-AR - AT C/V } == Antispin Polyoxymethylene (POM)
Cone Carbon steel
Nut DIN 934 Class 6
Forged Hook Carbon steel
Washer Carbon steel
— Sleeve Carbon steel
1 CH-GF - AITCILEERY 7 ' . Antispin Polyoxymethylene (POM) w
Cone Carbon steel 2

Nut DIN 934 Class 6



TECHNICAL DATASHEET

(LKA ]

NDEX

SYSTEMS

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN, ACHE, ACHTPL,

ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO, ACHAA2, ACHGA2, ACHGE

Reference: FT CH-en

ITEM CODE ETA SIZE PHOTO COMPONENT

Forged Eye Hook
Washer
Sleeve
Antispin

Cone
Nut
Forged Hook
Washer
r — Sleeve
O 4 Antispin
Cone
Nut
Forged Eye Hook
Washer

ay — sl
M6 a M10 01 — k]
\ B Antispin

Cone
Nut
Axle
Washer
M6aM10 il o —r Sle.ev?
Antispin
Cone
Nut
Hook
Washer
\f Sleeve
Ve MO . ‘ ——=2 Antispin
Cone
Nut

12 CH-AF -- M6aM10

13 CH-GF A2 --

M6 a M10

14 CH-AF A2 --

15 CH-ES --

16 CH-GE --

3. INSTALLATION DATA

Date: 01/02/19

Revision: 14

MATERIAL

Carbon steel
Carbon steel
Carbon steel
Polyoxymethylene (POM)
Carbon steel
DIN 934 Clase 6

SS A2-70 (AISI 304)

SS A2-70 (AISI 304)

SS A2-70 (AISI 304)
Polyoxymethylene (POM)
SS A2-70 (AISI 304)

SS A2-70 (AISI 304)

SS A2-70 (AISI 304)

SS A2-70 (AISI 304)

SS A2-70 (AISI 304)
Polyoxymethylene (POM)
SS A2-70 (AISI 304)

SS A2-70 (AISI 304)
Carbon steel
Carbon steel
Carbon steel
Polyoxymethylene (POM)
Carbon steel
DIN 934 Class 6
Class 5.6 C4D EN 10016-2
Carbon steel
Carbon steel
Polyoxymethylene (POM)
Carbon steel
DIN 934 Class 6

Page: 3 of 15

COATING

Zl

3.1. INSTALLATION DRAWING

dy
V7 <
Sw éé 4 ’ Aq. | :

7/ 2 " a 2
7 A
L orL=00 9o <.

O g .- ; s - 4
/A 5 A 2.4 2 T
hy
T‘ﬂSt
tf!x hmin




TECHNICAL DATASHEET

CH

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN, ACHE, ACHTPL, ACHTPI, ACHA, ACHG,
ACHAFO, ACHGFO, ACHAA2, ACHGA2, ACHGE

Reference: FT CH-en Date: 01/02/19 Revision: 14 Page: 4 of 15

3.2. INSTALLAITION PARAMETERS

Ll Total Minimum Minimum Q)
. Drill bit clearance Installation N Depth of Installation Effective Fixture allowable
Product Code Size Assessed . anchor thickness . . allowable
diameter hole torque drilled hole depth depth thickness . edge
. length of concrete spacing .
diameter distance
=] [-] [--] ETA do ds Tinst L humin hy hen hes tix Smin G
[mm] [mm] [Nm] [mm] [mm] [mm] [mm] [mm] [mm] [mm] [mm]
ACHTO08C M6 x 45 @8 4 s 5 45 5
ACHTOS8L M6 x 60 @8 4 60 20
10 100 45 39 30 41 41
ACHT09C M6 x 45 @9 [--] 9 10 45 5
ACHTO9L M6 x 60 @9 [--] 60 20
ACHT10C M8 x 60 @10 4 10 i 60 5
ACHT10L M8 x 80 #10 v 80 27
20 100 60 51 40 54 54
ACHT11C M8 x 60 @11 [--] 1 13 60 5
CH-TO ACHT11L M8 x 80 @#11 [--] 80 27
ACHT12C M10 x 70 @12 4 - 1 70 5
ACHT12L M10 x 100 @12 v 100 32
35 100 75 65 48 65 65
ACHT14C M10 x 70 @14 [--] " 16 70 5
ACHT14L M10 x 100 @14 [--] 100 32
ACHT16C M12 x 80 @16 v 80 5
16 18 50 110 80 70 55 74 74
ACHT16L M12 x 110 @16 v 110 37
ACHT20C M16 x 110 @20 v 20 22 140 110 145 105 92 72 15 97 97
ACHT25C M20 x 130 @25 [-] 25 27 120 130 160 130 80 25 240 120
ACHT8808C M6 x 45 @8 v 45 5
8 9 10 100 45 39 30 41 41
ACHT8808L M6 x 60 @8 4 60 20
ACHT8810C M8 x 60 @10 4 60 5
10 12 20 100 60 51 40 54 54
ACHT8810L M8 x 80 @10 4 80 27
CH-8.8 ACHT8812C M10 x 70 @12 4 70 5
12 14 35 100 75 65 48 65 65
ACHT8812L M10 x 100 @12 4 100 32
ACHT8816C M12 x 80 @16 v 80 5
16 18 50 110 80 70 55 74 74
ACHT8816L M12 x 110 @16 v 110 37
ACHT8820C M16 x 110 @20 4 20 22 140 110 145 105 92 72 15 97 97
CH8.8E ACHT8808E M6 x 40 @8 [-] 8 9 10 40 100 40 32 25 5 41 41
’ ACHT8810E M8 x 40 @10 [-] 10 12 20 40 100 45 37 25 5 54 54



TECHNICAL DATASHEET

CH

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN, ACHE, ACHTPL, ACHTPI, ACHA, ACHG,
ACHAFO, ACHGFO, ACHAA2, ACHGA2, ACHGE

Reference: FT CH-en Date: 01/02/19 Revision: 14 Page: 5 of 15
Ll Total Minimum Minimum Q)
. Drill bit clearance Installation N Depth of Installation Effective Fixture allowable
Product Code Size Assessed . anchor thickness . . allowable
diameter hole torque drilled hole depth depth thickness . edge
. length of concrete spacing .
diameter distance
[-] [-] [-] ETA do ds Tinst L himin hy s het tiix Smin Chnin
ACHTA208C M6 x 45 @8 [--] a g 45 5
ACHTA208L M6 x 60 @8 [--] 60 20
10 100 45 39 30 41 41
ACHTA209C M6 x 45 @9 [--] g - 45 5
ACHTA209L M6 x 60 @9 [-] 60 20
ACHTA210C M8 x 60 @10 [--] - W 60 5
ACHTA210L M8 x 80 @10 [--] 80 27
20 100 60 51 40 54 54
ACHTA211C M8 x 60 @11 [--] il © 60 5
CH-A2 ACHTA211L M8 x 80 @11 [--] 80 27
ACHTA212C M10 x 70 @12 [--] - W 70 5
ACHTA212L M10 x 100 @12 [--] 100 32
35 100 75 65 48 65 65
ACHTA214C M10 x 70 @14 [--] ” G 70 5
ACHTA214L M10 x 100 @14 [--] 100 32
ACHTA216C M12 x 80 @16 [--] 80 5
16 18 50 110 80 70 55 74 74
ACHTA216L M12 x 110 @16 [--] 110 37
ACHTA220C M16 x 110 @20 [-] 20 22 140 110 145 105 92 72 15 97 97
ACHTPLO8C M6 x 45 @8 v 45 5
8 9 10 100 45 39 30 41 41
ACHTPLO8L M6 x 60 @8 v 60 20
ACHTPL10C M8 x 60 @10 v 60 5
CH-PL 10 12 20 100 60 51 40 54 54
ACHTPL10L M8 x 80 @10 v 80 27
ACHTPL12C M10 x 70 @12 v 70 5
12 14 35 100 75 65 48 65 65
ACHTPL12L M10 x 100 @12 v 100 32
ACHTPIO8C M6 x 45 @8 [--] 45 5
8 9 10 100 45 39 30 41 41
ACHTPIO8L M6 x 60 @8 [--] 60 20
ACHTPI10C M8 x 60 @10 [-] 60 5
CH-PI 10 12 20 100 60 51 40 54 54
ACHTPI10L M8 x 80 #10 [--] 80 27
ACHTPI12C M10 x 70 @12 [-] 70 2
12 14 35 100 75 65 48 65 65
ACHTPI12L M10 x 100 @12 [-] 100 32
ACHINBO8C M6 x 45 @8 4 45 5
8 9 10 100 45 39 30 41 41
CH-INB ACHINBOS8L M6 x 60 @8 4 60 20
ACHINB10C M8 x 60 @10 v 60 5
10 12 20 100 60 51 40 54 54
ACHINB1OL M8 x 80 #10 4 80 27



an
L]

sENDEX

TECHNICAL DATASHEET

CH

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN, ACHE, ACHTPL, ACHTPI, ACHA, ACHG,
ACHAFO, ACHGFO, ACHAA2, ACHGA2, ACHGE

Reference: FT CH-en Date: 01/02/19 Revision: 14 Page: 6 of 15
Ll Total Minimum Minimum Q)
. Drill bit clearance Installation N Depth of Installation Effective Fixture allowable
Product Code Size Assessed . anchor thickness . . allowable
diameter hole torque drilled hole depth depth thickness . edge
. length of concrete spacing .
diameter distance
[-] [-] [-] ETA do ds Tinst L himin hy s het tiix Smin Chnin
ACHINNO8C M6 x 45 @8 4 45 5
8 9 10 100 45 39 30 41 41
CH-INN ACHINNOSL M6 x 60 @8 v 60 20
ACHINN10C M8 x 60 @10 v 60 5
10 12 20 100 60 51 40 54 54
ACHINN10L M8 x 80 #10 4 80 27
ACHGO08C M6 x 45 @8 [-] 8 9 45 -
10 100 45 39 30 41 41
ACHGO09C M6 x 45 @9 [-] 9 10 45 =
ACHG10C M8 x 60 §10 [-] 10 12 60 =
20 100 60 51 40 54 54
CH-GA ACHG11C M8 x 60 @11 [--] 11 13 60 -
ACHG12C M10 x 70 @12 [--] 12 14 70 --
35 100 75 65 48 65 65
ACHG14C M10 x 70 @14 [--] 14 16 70 -
ACHG16C M12 x 80 @16 [-] 16 18 50 80 110 80 70 55 -- 74 74
ACHA08C M6 x 45 @8 [--] 8 9 45 -
10 100 45 39 30 41 41
ACHA09C M6 x 45 @9 [-] 9 10 45 -
ACHA10C M8 x 60 @10 [-] 10 12 60 --
20 100 60 51 40 54 54
CH-AR ACHA11C M8 x 60 @11 [-] 11 13 60 -
ACHA12C M10 x 70 @12 [--] 12 14 70 -
35 100 75 65 48 65 65
ACHA14C M10 x 70 @14 [--] 14 16 70 -
ACHA16C M12 x 80 @16 [--] 16 18 50 80 110 80 70 55 -- 74 74
ACHGFOO08C M6 x 45 @8 [-] 8 9 10 45 100 45 39 30 -- 41 41
CH-GF ACHGFO10C M8 x 60 @10 [-] 10 12 20 60 100 60 51 40 - 54 54
ACHGFO12C M10 x 70 @12 [-] 12 14 35 70 100 75 65 48 -- 65 65
ACHAFO08C M6 x 45 @8 [-] 8 9 10 45 100 45 39 30 - 41 41
CH-AF ACHAFO10C M8 x 60 @10 [-] 10 12 20 60 100 60 51 40 - 54 54
ACHAFO12C M10 x 70 @12 [-] 12 14 35 70 100 75 65 48 - 65 65
ACHGA208C M6 x 45 @8 [-] 8 9 10 45 100 45 39 30 -- 41 41
CH-GF A2 ACHGA210C M8 x 60 @10 [-] 10 12 20 60 100 60 51 40 - 54 54
ACHGA212C M10 x 70 @12 [-] 12 14 35 70 100 75 65 48 - 65 65
ACHAA208C M6 x 45 @8 [--] 8 9 10 45 100 45 39 30 -- 41 41
CH-AF A2 ACHAA210C M8 x 60 @10 [-] 10 12 20 60 100 60 51 40 -- 54 54
[-]

ACHAA212C M10 x 70 @12 12 14 35 70 100 75 65 48 - 65 65



TECHNICAL DATASHEET

CH

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN, ACHE, ACHTPL, ACHTPI, ACHA, ACHG,
ACHAFO, ACHGFO, ACHAA2, ACHGA2, ACHGE

Reference: FT CH-en Date: 01/02/19 Revision: 14 Page: 7 of 15
Ll Total Minimum Minimum Q)
. Drill bit clearance Installation N Depth of Installation Effective Fixture allowable
Product Code Size Assessed . anchor thickness . . allowable
diameter hole torque drilled hole depth depth thickness . edge
. length of concrete spacing .
diameter distance
[-] [-] [-] ETA do ds Tinst L hes hy Mo het tiix Smin Chnin
ACHEO08C M6 x 45 @8 [-] 8 9 45 5
10 100 45 39 30 41 41
ACHE09C M6 x 45 @9 [-] 9 10 45 5
ACHE10C M8 x 60 #10 [--] o - 60 5
ACHE10L M8 x 80 @10 [-] 80 27
20 100 60 51 40 54 54
ACHE11C M8 x 60 @11 [--] 60 5
CH-ES 11 13
ACHE11L M8 x 80 @11 [--] 80 27
ACHE12C M10 x 70 @12 [--] - W 70 5
ACHE12L M10 x 100 @12 [-] 100 32
35 100 75 65 48 65 65
ACHE14C M10 x 70 @14 [--] ” G 70 5
ACHE14L M10 x 100 @14 [--] 100 32
CH-GE ACHGE10 M8 x 115 @10 [-] 10 12 20 115 100 45 39 30 - 41 41
ACHGE12 M10 x 135 @12 [--] 12 14 35 135 100 60 51 40 -- 54 54



Mg

NDEX

TECHNICAL DATASHEET

P Codes: ACHT, ACHT88, ACHT8SE, ACHTA2, ACHINB, ACHINN
Denomination: CH Anchor D b D D b b
ACHE, ACHTPL, ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO,

Reference: FT CH-en Date: 01/02/19 Revision: 14 Page: 8 of 15

4. INSTALLATION PROCEDURE

4.1. INSTALLATION IN CONCRETE

1. DRILL

Check that the concrete is compact and porosity insignificant.

To be used in dry, wet and flooded holes.

Both drilling and hammering modes can be turned on in the drilling
\ machine.

% T Hole diameter and length specified in previous tables.

2. BLOW AND CLEAN
* INDEX —4 Clean the hole from dust and concrete remains.
Use blow pump and brush.

3. INSTALL

Insert the anchor until the head is at the same level of the fixture surface.
: - Use a hammer in case of need.

l Installation must be performed through the fixture.

4. APPLY THE TORQUE
— { ] Apply the nominal torque specified in previous tables.
s Use torque wrench in order to ensure correct installation.



111N

NOEX

TECHNICAL DATASHEET

CH

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN,
ACHE, ACHTPL, ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO,

Reference: FT CH-en Date: 01/02/19 Revision: 14 Page: 9 of 15

5. RESISTANCES

Resistances in concrete C20/25 for an isolated anchor without edge distance or spacing effect are indicated in the tables below:

5.1 CHARACTERISTIC RESISTANCE [kN]

Tensi h
Product Code Size Assessed gnsion shear
NRk VRk
ACHTO08C M6 x 45 (8 v
ACHTO8L M6 x 60 @8 v
5,5 6,0
ACHTO09C M6 x 45 @9 [-]
ACHTO9L M6 x 60 @9 [
ACHT10C M8 x 60 §10 v
ACHT10L M8 x 80 #10 v 106 o
ACHT11C M8 x 60 @11 [-] ’ ’
ACHT11L M8 x 80 #11 [-]
CH-TO
ACHT12C M10 x 70 @12 v
ACHT12L M10 x 100 @12 v
16,7 16,7
ACHT14C M10 x 70 @14 [--]
ACHT14L M10 x 100 P14 [-]
ACHT16C M12 x 80 @16 v L o
ACHT16L M12 x 110 §16 v ’ ’
ACHT20C M16 x 110 320 v 30,8 47,1
ACHT25C M20 x 130 @25 [-] 36,1 72,3
ACHT8808C M6 x 45 @8 v - 83
ACHT8808L M6 x 60 @8 v ¢ ’
ACHT8810C M8 x 60 @10 v
10,0 12,7
ACHT8810L M8 x 80 #10 v
CH-8.8 ACHT8812C M10 x 70 @12 v
16,7 16,7
ACHT8812L M10 x 100 @12 v
ACHT8816C M12 x 80 @16 v
20,6 20,6
ACHT8816L M12 x 110 @16 v
ACHT8820C M16 x 110 @20 v 30,8 61,7
CHESE ACHT8808E M6 x 40 @8 [-] 5,3 74
’ ACHT8810E M8 x 40 10 [-] 7,5 74
ACHTA208C M6 x 45 @8 [-]
ACHTA208L M6 x 60 @8 [--] 55 70
ACHTA209C M6 x 45 @9 [-] ’ -
ACHTA209L M6 x 60 @9 [-1
ACHTA210C M8 x 60 #10 [-]
ACHTA210L M8 x 80 #10 [-]
10,0 12,8
ACHTA211C M8 x 60 @11 [-] ===
CH-A2 ACHTA211L M8 x 80 @11 [-]
ACHTA212C M10 x 70 $12 [-]
ACHTA212L M10 x 100 @12 [-]
16,7 16,7
ACHTA214C M10 x 70 @14 [-]
ACHTA214L M10 x 100 P14 [-]
ACHTA216C M12 x 80 ¢16 [-]
20,6 20,6
ACHTA216L M12 x 110 @16 [-]
ACHTA220C M16 x 110 320 [-] 30,8 54,9
ACHTPLO8C M6 x 45 (8 v - 83
ACHTPLOSL M6 x 60 @8 v ¢ ’
L ACHTPL10C M8 x 60 #10 v 106 o
ACHTPL10L M8 x 80 #10 v ’ ’
ACHTPL12C M10 x 70 @12 v
16,7 16,7
ACHTPL12L M10 x 100 @12 v



Mg

NOEX

TECHNICAL DATASHEET

CH

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN,
ACHE, ACHTPL, ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO,

Reference: FT CH-en Date: 01/02/19 Revision: 14| Page: 10 of 15
Product Code Size Assessed Tension Shear
Nr Vrk
ACHTPI08C M6 x 45 @8 [--] 55 7.0
ACHTPIOSL M6 x 60 @8 [-]
I ACHTPI10C M8 x 60 #10 [-] 100 12.8
ACHTPI10L M8 x 80 310 [ ! ===
ACHTPI12C M10 x 70 §12 [--] 16,7 16,7
ACHTPI12L M10 x 100 @12 [-]
ACHINBOSC M6 x 45 @8 v 55 50
CHANB ACHINBOSL M6 x 60 @8 v
ACHINB10C M8 x 60 #10 v
ACHINB10L M8 x 80 10 v Y 2.1
ACHINNOSC M6 x 45 @8 v 55 50
CHANN ACHINNOSL M6 x 60 @8 v
ACHINN10C M8 x 60 @10 v 6 91
ACHINN10L M8 x 80 §10 v ’ ==
ACHG08C M6 x 45 @8 [--]
ACHG09C M6 x 45 (9 -] L2 B
ACHG10C M8 x 60 @10 [-]
CH-GA ACHG11C M8 x 60 @11 [-1 3.0 B
ACHG12C M10 x 70 @12 [-]
ACHG14C M10 x 70 P14 [-] 20 B
ACHG16C M12 x 80 P16 [--] 6,0 =
ACHA08C M6 x 45 @8 [-] 15 B
ACHA09C M6 x 45 @9 [-] ==
ACHA10C M8 x 60 §10 [--]
CH-AR ACHA11C M8 x 60 P11 -] 3.0 -
ACHA12C M10 x 70 @12 [-]
ACHA14C M10 x 70 #14 [-] 20 B
ACHA16C M12 x 80 §16 [--] 6,0 =
ACHGFO08C M6 x 45 @8 [-] 1,6 -
CH-GF ACHGFO10C M8 x 60 #10 [-] 31 =
ACHGFO12C M10 x 70 §12 [--] 50 -
ACHAFO08C M6 x 45 @8 [-] 4,2 -
CH-AF ACHAFO10C M8 x 60 #10 [-] 9,5 -
ACHAFO12C M10 x 70 @12 [--] 12,7 =
ACHGA208C M6 x 45 @8 [-] 17 --
CH-GF A2 ACHGA210C M8 x 60 #10 [-] 3,1 -
ACHGA212C M10 x 70 @12 [-] 58 -
ACHAA208C M6 x 45 @8 [-] 4,2 --
CH-AF A2 ACHAA210C M8 x 60 @10 [-] 9,5 --
ACHAA212C M10 x 70 @12 [-] 12,7 -
ACHEO08C M6 x 45 @8 [-]
ACHEO09C M6 x 45 @9 [--] 75 3.6
ACHE10C M8 x 60 #10 [-] 9,5 6,6
ACHE10L M8 x 80 #10 [-] 13,1 6,6
ACHE11C M8 x 60 P11 [-] 9,5 6,6
CHES ACHE11L M8 x 80 @11 [-] 13,1 6,6
ACHE12C M10 x 70 @12 [-] 12,7 10,4
ACHE12L M10 x 100 @12 [-] 20,6 10,4
ACHE14C M10 x 70 @14 [-] 12,7 10,4
ACHE14L M10 x 100 @14 [--] 20,6 10,4
CH.GE ACHGE10 M8 x 115 @10 [-] 30 -
ACHGE12 M10 x 135 @12 [-] 5,0 -
1 KN = 100 kg

Values underlined and in italics indicate steel failure; bold values indicate concrete failure and the rest indicate pull-out failure.




Mg

NOEX

TECHNICAL DATASHEET

CH

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN,
ACHE, ACHTPL, ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO,

Reference: FT CH-en Date: 01/02/19 Revision: 14| Page: 11 of 15

5.2 DESIGN RESISTANCES [kN]

Tensi sh
Product Code Size Assessed gnsion —
NRd VRd
ACHTO08C M6 x 45 @8 v
ACHTOSL M6 x 60 @8 v
3,6 48
ACHT09C M6 x 45 @9 [--]
ACHTO9L M6 x 60 @9 [--]
ACHT10C M8 x 60 §10 v
ACHT10L M8 x 80 §10 v
6,6 8,5
ACHT11C M8 x 60 @11 [--]
ACHT11L M8 x 80 @11 [--]
CH-TO
ACHT12C M10 x 70 §12 v
ACHT12L M10 x 100 @12 v
9,3 11,2
ACHT14C M10 x 70 @14 [--]
ACHT14L M10 x 100 P14 [--]
ACHT16C M12 x 80 P16 v o 13.7
ACHT16L M12 x 110 @16 v ’ ’
ACHT20C M16 x 110 @20 v 20,5 37,6
ACHT25C M20 x 130 @25 [--] 20,0 48,1
ACHT8808C M6 x 45 @8 v 36 55
ACHT8808L M6 x 60 @8 v ¢ ’
ACHT8810C M8 x 60 §10 v . oF
ACHT8810L M8 x 80 §10 v ! !
CH-8.8 ACHT8812C M10 x 70 @12 v 93 112
ACHT8812L M10 x 100 @12 v ’ ’
ACHT8816C M12 x 80 @16 v
11,4 13,7
ACHT8816L M12 x 110 @16 v
ACHT8820C M16 x 110 @20 v 20,5 41,1
CH88E ACHT8808E M6 x 40 @8 [--] 2,9 5.9
’ ACHT8810E M8 x 40 10 [-] 4,1 5.9
ACHTA208C M6 x 45 @8 [--]
ACHTA208L M6 x 60 @8 [-] o6 s
ACHTA209C M6 x 45 @9 [-] ¢ =
ACHTA209L M6 x 60 @9 [--]
ACHTA210C M8 x 60 §10 [-]
ACHTA210L M8 x 80 #10 [--] 66 82
ACHTA211C M8 x 60 @11 [-] ¢ ==
CH-A2 ACHTA211L M8 x 80 @11 [-]
ACHTA212C M10 x 70 @12 [-]
ACHTA212L M10 x 100 @12 [-]
9,3 11,2
ACHTA214C M10 x 70 @14 [--]
ACHTA214L M10 x 100 @14 [-]
ACHTA216C M12 x 80 P16 [-]
11,4 13,7
ACHTA216L M12 x 110 @16 [-]
ACHTA220C M16 x 110 320 [--] 20,5 35,2
ACHTPLO8C M6 x 45 @8 v 316 55
ACHTPLOSL M6 x 60 @8 v ! !
CHPL ACHTPL10C M8 x 60 @10 v . oF
ACHTPL10L M8 x 80 §10 v ¢ ’
ACHTPL12C M10 x 70 @12 v
9,3 11,2
ACHTPL12L M10 x 100 @12 v



Mg

NOEX

TECHNICAL DATASHEET

CH

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN,
ACHE, ACHTPL, ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO,

Reference: FT CH-en Date: 01/02/19 Revision: 14| Page: 12 of 15
Product Code Size Assessed Tension Shear
Nr Vrk
ACHTPI08C M6 x 45 @8 [--]
ACHTPIOSL M6 x 60 @8 [-] 36 42
I ACHTPI10C M8 x 60 #10 [-] 66 .
ACHTPI10L M8 x 80 #10 [ ! ==
ACHTPI12C M10 x 70 §12 [--]
ACHTPI12L M10 x 100 @12 [-] S 11,2
ACHINBOSC M6 x 45 @8 v
CHANB ACHINBOSL M6 x 60 @8 v 3,6 3.0
ACHINB10C M8 x 60 #10 v
ACHINB10L M8 x 80 10 v ee 24
ACHINNOSC M6 x 45 @8 v
CHANN ACHINNOSL M6 x 60 @8 v 3,6 3.0
ACHINN10C M8 x 60 @10 v
ACHINN10L M8 x 80 §10 v e 24
ACHG08C M6 x 45 @8 [--]
ACHG09C M6 x 45 39 -] L0 B
ACHG10C M8 x 60 @10 [-]
CH-GA ACHG11C M8 x 60 #11 [-] 20 B
ACHG12C M10 x 70 @12 [-]
ACHG14C M10 x 70 P14 [-] 3.3 B
ACHG16C M12 x 80 @16 [-] 4,0 ==
ACHA08C M6 x 45 @8 [-]
ACHA09C M6 x 45 @9 [-] L0 -
ACHA10C M8 x 60 §10 [--]
CH-AR ACHA11C M8 x 60 P11 -] 20 -
ACHA12C M10 x 70 @12 [-]
ACHA14C M10 x 70 #14 [-] 3.3 B
ACHA16C M12 x 80 @16 [-] 4,0 =
ACHGFO08C M6 x 45 @8 [-] 1,1 -
CH-GF ACHGFO10C M8 x 60 #10 [-] 2,1 --
ACHGFO12C M10 x 70 §12 [--] 39 -
ACHAFO08C M6 x 45 @8 [-] 2,8 -
CH-AF ACHAFO10C M8 x 60 #10 [-] 52 -
ACHAFO12C M10 x 70 @12 [--] 70 =
ACHGA208C M6 x 45 @8 [-] 0,9 --
CH-GF A2 ACHGA210C M8 x 60 #10 [-] 1,7 -
ACHGA212C M10 x 70 @12 [-] 3,1 -
ACHAA208C M6 x 45 @8 [-] 2,2 -
CH-AF A2 ACHAA210C M8 x 60 @10 [-] 5,2 --
ACHAA212C M10 x 70 @12 [-] 7,0 -
ACHEO08C M6 x 45 @8 [-]
ACHE09C M6 x 45 @9 [=] 41 28
ACHE10C M8 x 60 #10 [-] 5,2 52
ACHE10L M8 x 80 #10 [-] 7,2 52
ACHE11C M8 x 60 P11 [-] 5,2 52
CHES ACHE11L M8 x 80 @11 [-] 7,2 52
ACHE12C M10 x 70 @12 [-] 7,0 8,3
ACHE12L M10 x 100 @12 [-] 11,4 83
ACHE14C M10 x 70 @14 [-] 7,0 8,3
ACHE14L M10 x 100 @14 (=] 11,4 83
CH.GE ACHGE10 M8 x 115 @10 [-] 2,0 -
ACHGE12 M10 x 135 @12 [-] 33 -
1 KN = 100 kg

Values underlined and in italics indicate steel failure; bold values indicate concrete failure and the rest indicate pull-out failure.




Mg

NOEX

TECHNICAL DATASHEET

CH

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN,
ACHE, ACHTPL, ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO,

Reference: FT CH-en Date: 01/02/19 Revision: 14| Page: 13 of 15

5.3 MAXIMUM RECOMMENDED LOADS [kN]

Product Code Size Assessed Tension Shear
NRrd Vrd
ACHTO08C M6 x 45 @8 v
ACHTOSL M6 x 60 @8 v
ACHT09C M6 x 45 @9 [--] 26 3.4
ACHTO9L M6 x 60 @9 [-]
ACHT10C M8 x 60 §10 v
ACHT10L M8 x 80 §10 v
ACHT11C M8 x 60 @11 [-] 7 ez
ACHT11L M8 x 80 @11 [-]
CH-TO
ACHT12C M10 x 70 §12 v
ACHT12L M10 x 100 @12 v
ACHT14C M10 x 70 @14 [-] 6,6 8,0
ACHT14L M10 x 100 P14 [--]
ACHT16C M12 x 80 P16 v
ACHT16L M12 x 110 @16 v ol S
ACHT20C M16 x 110 $20 v 14,6 26,9
ACHT25C M20 x 130 @25 [-] 14,3 344
ACHT8808C M6 x 45 @8 v
ACHT8808L M6 x 60 @8 v 2,6 3,9
ACHT8810C M8 x 60 §10 v
ACHT8810L M8 x 80 #10 v 47 g2
CH-8.8 ACHT8812C M10 x 70 @12 v
ACHT8812L M10 x 100 @12 v 6,6 8,0
ACHT8816C M12 x 80 @16 v
ACHT8816L M12 x 110 @16 v ol S
ACHT8820C M16 x 110 @20 v 14,6 29,3
CH88E ACHT8808E M6 x 40 @8 [-] 2,1 4,2
ACHT8810E M8 x 40 10 [-] 2,9 4,2
ACHTA208C M6 x 45 @8 [--]
ACHTA208L M6 x 60 @8 [--]
ACHTA209C M6 x 45 @9 [-] AL =
ACHTA209L M6 x 60 @9 [--]
ACHTA210C M8 x 60 §10 [-]
ACHTA210L M8 x 80 #10 [-]
ACHTA211C M8 x 60 @11 ] 47 2.8
CH-A2 ACHTA211L M8 x 80 @11 [-]
ACHTA212C M10 x 70 @12 [-]
ACHTA212L M10 x 100 @12 [--]
ACHTA214C M10 x 70 @14 [-] 6,6 8,0
ACHTA214L M10 x 100 @14 [-]
ACHTA216C M12 x 80 P16 ]
ACHTA216L M12 x 110 @16 [--] 81 3,8
ACHTA220C M16 x 110 320 [-] 14,6 251
ACHTPLO8C M6 x 45 @8 v
ACHTPLOSL M6 x 60 @8 v 2,6 3,9
CHPL ACHTPL10C M8 x 60 @10 v a i
ACHTPL10L M8 x 80 §10 v ¢ ’
ACHTPL12C M10 x 70 @12 v
ACHTPL12L M10 x 100 @12 v 6,6 8,0



Mg

NOEX

TECHNICAL DATASHEET

CH

Denomination: CH Anchor

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN,
ACHE, ACHTPL, ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO,

Reference: FT CH-en Date: 01/02/19 Revision: 14| Page: 14 of 15
Product Code Size Assessed Tension Shear
Nr Vrk
ACHTPI08C M6 x 45 @8 [--]
ACHTPIOSL M6 x 60 @8 [-] 2,6 3.2
I ACHTPI10C M8 x 60 #10 [-] 47 -
ACHTPI10L M8 x 80 $10 [ ! ==
ACHTPI12C M10 x 70 §12 [--]
ACHTPI12L M10 x 100 @12 [-] 249 &0
ACHINBOSC M6 x 45 @8 v
CHANB ACHINBOSL M6 x 60 @8 v 2,6 21
ACHINB10C M8 x 60 #10 v
ACHINB10L M8 x 80 10 v 47 2.2
ACHINNOSC M6 x 45 @8 v
CHANN ACHINNOSL M6 x 60 @8 v 2,6 21
ACHINN10C M8 x 60 @10 v
ACHINN10L M8 x 80 §10 v 47 3.9
ACHG08C M6 x 45 @8 [--]
ACHG09C M6 x 45 39 -] 07 B
ACHG10C M8 x 60 @10 [-]
CH-GA ACHG11C M8 x 60 @11 [-1 14 B
ACHG12C M10 x 70 @12 [-]
ACHG14C M10 x 70 P14 [-] 23 B
ACHG16C M12 x 80 P16 [--] 3,1 =
ACHA08C M6 x 45 @8 [-]
ACHA09C M6 x 45 @9 [-] 0.7 -
ACHA10C M8 x 60 §10 [--]
CH-AR ACHA11C M8 x 60 P11 -] L4 -
ACHA12C M10 x 70 @12 [-]
ACHA14C M10 x 70 #14 [-] 23 B
ACHA16C M12 x 80 §16 [--] 31 =
ACHGFO08C M6 x 45 @8 [-] 0,8 -
CH-GF ACHGFO10C M8 x 60 #10 [-] 15 --
ACHGFO12C M10 x 70 §12 [--] 2,7 -
ACHAFO08C M6 x 45 B8 [-] 2,0 -
CH-AF ACHAFO10C M8 x 60 #10 [-] 3,7 -
ACHAFO12C M10 x 70 @12 [--] 50 =
ACHGA208C M6 x 45 38 [-] 0,9 --
CH-GF A2 ACHGA210C M8 x 60 #10 [-] 1,7 -
ACHGA212C M10 x 70 @12 [-] 3,1 -
ACHAA208C M6 x 45 @8 [-] 16 -
CH-AF A2 ACHAA210C M8 x 60 @10 [-] 3,7 -
ACHAA212C M10 x 70 @12 [-] 5,0 -
ACHEO08C M6 x 45 @8 [-]
ACHEO09C M6 x 45 @9 [--] 23 20
ACHE10C M8 x 60 #10 [-] 3,7 3,7
ACHE10L M8 x 80 #10 [-] 5,2 3,7
CHES ACHE11C M8 x 60 P11 [-] 3,7 3,7
ACHE11L M8 x 80 @11 [-] 5,2 3,7
ACHE12C M10 x 70 @12 [-] 5,0 5,9
ACHE12L M10 x 100 @12 [--] 8,1 5,9
ACHE14C M10 x 70 @14 [-] 5,0 5,9
ACHE14L M10 x 100 @14 (=] 8,1 59
CH.GE ACHGE10 M8 x 115 @10 [-] 14 -
ACHGE12 M10 x 135 @12 [--] 2,3 -
1 KN =100 kg

Values underlined and in italics indicate steel failure; bold values indicate concrete failure and the rest indicate pull-out failure.




111N

NOEX

TECHNICAL DATASHEET

Codes: ACHT, ACHT88, ACHTSSE, ACHTA2, ACHINB, ACHINN,
ACHE, ACHTPL, ACHTPI, ACHA, ACHG, ACHAFO, ACHGFO,

Reference: FT CH-en Date: 01/02/19 Revision: 14| Page: 15 of 15

Denomination: CH Anchor

COEFFICIENTS FOR TENSION LOADS
IN PULL-OUT FAILURE IN HIGH-RESISTANCE CONCRETE TYPES

CONCRETE FACTOR C30/37 C40/50 C50/60

W, (Non cracked) 1,22 1,41 1,55

7. OFFICIAL DOCUMENTATION

The following documents are available through our Sales Department or on our official website: www.indexfix.com::

e European Technical Assessment ETA 18/for installation in non-cracked concrete according to EAD 330232-00-0601, option 7,
from M6 of M20.

e AVCP Certificate 1219-CPR-0193 for use in concrete.

e Declaration of performance DoP MTH.

e Available for the anchor design software INDEXcal.


http://www.indexfix.com/

